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EXETERZE (K01)

THE4 [R6KEL FamIl £ - Ak, A W)IHERES FEX L1 HERF - 27
THEX 5y AT HERE
THERXSy - T - &R - 5 Hirs AL Yo B &FA Yo - S T
AT HERE
= 1 13, 159, 500
SRR AT
= 1 12, 883, 500
PARBRAR T2
= 1 12, 883, 500
BBl (B E %%4ymy%mxﬁ%m&wmrEQwaw 18
m2 20, 000 205. 7 4,114, 000
AR 25
m3 500 1, 539 769, 500
WSy 35
t 250 17, 000 4, 250, 000
WSy 45
t 150 25, 000 3, 750, 000
T
= 1 276, 000
ARIBEE BT
= 1 276, 000
R B 55
A H 20 13, 800 276, 000
BT HEE
= 1 13, 159, 500
IR
= 1 466, 000
HaEGERE (FEHL)
= 1 466, 000
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EXETERZE (K01)

THE4 [R6KEL FamIl £ - Ak, A W)IHERES FEX T HERE - (&
TEXS5 AT HERE
TSy « TfE - FER - H05 fkes HAAL % B &%E B - KA e
Wb T
= 13, 625, 500
B E g
2V 2,297, 000
T =5l
2V 15, 922, 500
— R
= 1, 868, 500
T ik
2V 17, 791, 000
B E K OV 5 i 2 BikE
= 1, 779, 100
T
= 19, 570, 100
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N NN 2 BAME A4 A 2024. 08
1 ﬂh\ﬁ‘{ﬂﬂ% e Vickinde! 2024. 08
TSI 1.000-00000 0.0 0
Wooe RA AT (A IR - DXy MARBEEE K O T
X5y A% A (B 1) BT m2 BN E R ] B 905. 7
TR - R e BT HE B &% s
A AT (EA) A (BB ), A 0, B T, &
TOEH
m2 205.7 205.7
e 205.7
EAAL 205.7 | M,/m2
N NAWA HAffE A 2024. 08
1 ﬂh\ﬁ‘{ﬂﬂ% feaszin ViEkinde! 2024. 08
S IR 1.000-00000 0.0 0
o | IR E
e £ n3 i K R .| | aso
R - R e BT HE B &% s
TEM (A BRAR) MO T, AV, #E L, 10. OkmL T, 42
TOEH
m3 1,539 1,539
NI 1,539
EAAL 1, 539 M,/m3
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N NN 2 BAME A4 A 2024. 08
1 /k Effﬂﬁié A i 4E A 2024. 08
T TSI 1.000-00000 0.0 0
BHooo3E |TH T L R o
A t AT ] B 17,000
- A - B e BT HE B &% s
Loy (1)
t 1 17, 000 17, 000
NI 17, 000
EAAL 17, 000 Mt
N NAWA HAffE A 2024. 08
1 IR E]ﬁﬁi@ I i 1 202408
S S IR 1.000-00000 0.0 0
HoogE |TH T R R -
BT t AT ] B 95, 000
- A - B e BT HE B &% s
Loy (1)
t 1 25, 000 25, 000
NI 25,000
EAAL 25, 000 Mt




1 R HALZZ

HLAZ

B R

xR

HLAZ

AT

AH

13, 800

BAME A4 A 2024. 08
A A A 2024. 08
TSI 1.000-00000 0.0 0
1 HAl 13, 800
K}
13, 800
13, 800
13, 800 M./ ANH

=

Ci
o
~m




